LB-50-2 01/07/2014




LB-50-2

01/07/2014

11133 001

11123 001

21125014

21125 026
11123 001

11133 001

ﬁ %

&=

s
21125014

—

®

21125026



LB-50-2 01/07/2014
Item n°® | Qty [Code HaumenoBanue [Name
Nen/n | Ipu- [Kon
1 1 21111024 |Kaptep LB-50-2 Crankcase LB-50-2
2 8 11141003  |Winunbka M10-38 LB-50-2, LB-75-2 Stud M10-38 LB-50-2, LB-75-2
3 1 21169003 [Mpobka cnuea macna Z3/8 LB-50-2, LB-  |Oil Draining Plug Z3/8 LB-50-2, LB-75-2, LT-
4 1 21113005 |[Kpwiwka noawmnHuka LB-50-2, LB-75-2  Bearing Seat LB-50-2, LB-75-2
5 1 21161005 |Canbhuk AS,35x56x12 LB-50-2, LB-75-2 Qil Seal Type AS,35x56x12 LB-50-2, LB-75-2
6 1 21134006  |MopwmnHuk 6307 LB-50-2, LB-75-2 Ball Bearing 6307 LB-50-2, LB-75-2
7 1 21152005 |Mpokagka kpbiwku nogwmnHuka LB-50-2, |Gasket Bearing Seat, LB-50-2, LB-75-2
8 6 11131004  Bunt H M8-25,8.8 LB-30-2 Screw H M8-25,8.8 LB-30-2
9 14 11123003 MpyskuHHas waiiba W8 LB-30-2 Spring Washer W8 LB-30-2
10 1 21131006 |Konewnsan LB-50-2 Crankshaft LB-50-2
11 2 21132007 |WatyH D15-D32-137 (6okoBon) LB-50-2, Rod D15-D32-137 (Side) LB-50-2, LB-75-2
12 2 21141004 IMopuenb D8O, LB-50-2, LB75-2 Piston D80, LB-50-2, LB75-2
13 2 21145004 |KomnnekT nopluHeBbix koney D80, LB-50- |Piston Ring Set D80, LB-50-2, LB-75-2
14 2 21143004 INaney nopiuts D15-70, LB-50-2, LB-75-2 Piston Pin (D15-70, LB-50-2, LB-75-2)
15 4 21144003 |CronopHoe kombLo 15x1 LB-50-2, LB-75-2 Inside Circlip 15x1 LB-50-2, LB-75-2
16 1 11121009  |Wlait6a D30-D44-1.5 LB-50-2, LB-75-2  Washer D30-D44-1.5 LB-50-2, LB-75-2
17 1 21146004 |CronopHoe konbuo D30x1.2 LB-50-2, LB-Outside Circlip D30x1.2 LB-50-2, LB-75-2
18 1 21134002 MoauwmnHnk 6304 LB-30-2 Ball Bearing 6304 LB-30-2
19 1 21155001 Mpoknaaka kpbllwky noawmnHuka LB-30-2 |Gasket Bearing Cover LB-30-2
20 1 21112003 [Kpbiwka nogwmnHuka 4mm, LB-30-2 Bearing Cover Triangle, 4mm, Aluminium LB-30-
21 3 11131001 | Bunt H M6-20 LB-30-2 Screw H M6-20 LB-30-2
22 3 11123002 MpyskuHHas waiiba W6 LB-30-2 Spring Washer W6 LB-30-2
23 2 21153003 [Npoknagka umnuHapa HwkHas D80 LB-50- Gasket Bottom Cylinder, D80 LB-50-2, LB-75-2
24 2 21121005 Linnunap D80 M8 LB-50-2, LB-75-2 Cylinder D80 M8 LB-50-2, LB-75-2
25 8 11123004 MpyxuHHas wanba W10 LB-50-2, LB-75-2,Spring Washer W10 LB-50-2, LB-75-2, LT-
26 8 11111003 [aitka H M10 LB-50-2, LB-75-2 Nut H M10 LB-50-2, LB-75-2
27 2 21123004 [Tonoska uvnuHgpa D80, M8, LB-50-2, |cylinder Head D80, M8, Aluminium LB-50-2, LB-
28 2 21154003 [MNpoknagka ronosku unnuHpa D80 LB-50- Gasket D80, Cylinder Head LB-50-2, LB-75-2
29 2 21124019 |KnanaHHas nnuTta B kKomnnekte LB-50-2, [Valve Plate Set LB-50-2, LB-75-2
30 2 21151005 [MNpoknagka umnuHapa BepxHsas D80 LB-  (Gasket D80 Top Cylinder LB-50-2, LB-75-2
31 8 11131006  BunTt H M8-80,8.8 D80 LB-50-2, LB-75-2 (Screw H M8-80,8.8 D80 LB-50-2, LB-75-2
32 21173002 |YronbHuk ZG3/4"-G3/4" 90 LB-50-2, LB-  [Elbow Connection ZG3/4"-G3/4" 90 LB-50-2, LB-
33 1 21174002 [Tpoiirmk LB-50-2 3 Ways Conector LB-50-2
34 1 21171003 |Boagyxonposog B c6ope D19-D80 LB-50-2C0omplete Cooler D19-D80 LB-50-2
35 1 21136001  |lLinonka D5-19 LB-40-3, LB-50-2, LB-75-2 (CircleKey D5-19 LB-40-3, LB-50-2, LB-75-2
36 1 21212004 || \us D368,A2 LB-50-2, LB-75-2 Pulley D368,A2 Cast Iron LB-50-2, LB-75-2
37 1 11131011 BuHT H M10-45, neBas LB-50-2, LB-75-2 Screw H M10-45, left LB-50-2, LB-75-2
38 1 11124002 |MpyxuHHasa wanba W10 nesas LB-50-2, Spring Washer W10 left LB-50-2, LB-75-2
39 1 11121012 |llai6a D10-D52-5 LB-50-2, LB-75-2 Washer D10-D52-5 LB-50-2, LB-75-2
40 2 21175003 |BospywuHbIin counbTp LB-50-2, LB-75-2 Air Filter LB-50-2, LB-75-2
41 1 21166001 |Canyn M16x1,5 LB-40-3 Oil Breath Pipe M16x1,5 LB-40-3
42 1 21167002 [Npobka 3anuBa macna M16x3 LH-20-3,  (Oil filling plug M16x3 LH-20-3, LB-30-2, LB-40-3
43 1 21164004 Macrioykasatens LB-30-2 Oil Leveler LB-30-2
44 1 11114001 |BbixogHas ravika G3/4/32-D19.5-1=21 LB-[Exhaust Nut G3/4/32-D19.5-1=21 LB-50-2, LB-
21125026 |MnacTtuHa knanaHa LB-50-2, LB-75-2 Valve seat LB-50-2, LB-75-2
21125014 [NatpoH cunbTpa Bo3gywHoro LB-50-2, Air filter cartridge LB-50-2, LB-75-2
21175007 |MnacTtuHa knanaHa LB-50-2, LB-75-2 Valve seat LB-50-2, LB-75-2




01/07/2014

LB-50-2




